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https://www.foodsafetykorea.go.kr/main.do

CittlserstadninftippDat affloca | #Tenpttipykerne | _2321 242809921546, py :53: Deprecat ionWarning:
driver = webdriver.Chrome(service=Service(ChromeDriveranager(]).instal ()],
03|
if schonm in sch_list:
1%/
22|l
3% N

cont inue

CittlserstadninftippDat affloca | #Tenpttipykerne | _2321 242809921546, py :53: Deprecat ionWarning:

=Sstn” )

def crawling( Food_table_highschool )
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MESYEEDB 7M7Y

© 1 db_menus =[]
2 with open(os.path.join(data_path, "db_menus.txt"), 'r') as f:
3 for line in f:
4 db_menus.append(line.replace("#n",""))
5 len(db_menus)
C» 787

© ' +HESYLEDB UK 3 AATAYR 0N AT © 2=

2 open(os.path.join(data_path, ' mclude_db_menus.txt , "w", encoding="euc-kr")
3 key, value in menus.items():
4 fwrite(f" key): (value ¥n")

f:

C 714
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© 1 df [ df | 'menu’ |strcontains
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6678 D|ENAIEENEI SN (ASSEANSE)
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38483 551580 (AS5EANSHE)
49049 o5y (8= S%)
60098 OhALf MRt D Setn (B EEDSE)

r' < 4K ", regex= ]

r' RS AL regex=
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1 food_nutrition .sort_values( “# ="', ascending=False)

2 food_nutrition .drop_duplicates(

HEW )

3 food_nutrition [ food_nutrition] "X / ®Z=AF ] == "F=(CHE)" ]

class papdesssgre, frame. DataFrane’ >
Rangel ndex entries, 0 to 7703

Data colym Mral 100 colmns):

#  Column MNon=Hul | Count  Dtype

0 N 704 pon-null  intBd

1 SAWPLE_ID 7704 non-null  object

2 AEFE 7704 non-nul |l object
3 Dex TI04 non-nul | ochject

4 HEHE T4 non=nul | obiect
5 A=W FI04 mon-nul | object
[ T non-null  inthd

T OAE f HEM 704 non-null  object
g MHAZ TT04 non-nul |l object
9 AIUHEFR 704 non-null  object
10 dE4HHMESR 7704 non=nul | object
11 12 H=2 T4 non-null  intB4
12 LHEZF C3 T non-null  object
13 &LHESH(q) 7704 non-null  object
14 ELHEZF(ul) T nen-nul | object
15 I Z]Claal) T4 non-nul | object
16 £=Z2(al TT04 non-null  object

17 SHHE(g) 7704 mon-nul | chject
18 Al a) T non-null  object
19 ErxZi2(q) T4 non-nul | object
20 &ESHR(q) 7704 mon-nul | ohject
96 FHE(a) T704 non-null  object
a7 M2 wa) TI04 non-null  object
o AZEEN 7704 non=-null  obiect
99 RE TP non-nul | object

dtypes: int6d(3), object(97)

nemory Usane: 5.9+ MB

—>

<class

#  Column

SAMPLE_ID
A=DE
pe=
L= E

Al B

Hc

HE J HE=A
A2
LBUH=EF
10 HEHHER
1n 12 HSZ
12 LHEE_CH
13 ELH=EZHg)
14 ELHEZHwl)
15 WA (haal)
16 ==(g)

17 CHHE(g)

18 FI2Ha)

19 S=5t&(g)
a0 &9Ria)

% =HE(q)

97 SHHIZ N w3
9 SSHEH
o0 O
divpes: intB4(3). obiect(97)
memory Usage: B625.7+ KB

OO0 == O LN B L P = O

pre, frame. DataFrane’ >

InL'EuiIntries, 7063 to 152
Data ool s mal 100 columns):

Mon—Hull Count  Dtype
793 non-nul | intEd
43 non-nul | object
3 non=nul | chject
793 non=nul | cbject
793 non=nul | object
793 non-nul | ob] ect
793 non=nul | int6d
T93 nen-nul | object
793 non—nul chject
793 non-nul | object
93 non=nul | object
793 non=nul | int64
793 noa-nul | object
793 non=nul | chject
793 non=nul |l object
793 non-nul | object
793 non-nul | ol ect
793 non-nul | o et
793 non-nul | abject
793 non=nul | ohject
93 non=-nul | object
93 non-nul | object
793 non-nul | obyject
793 non-nul | o ect
793 non-nul | ok ect
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- X|Y/H ZEALE 2 oty

X2l apd
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° 1 food_nutrition [food_nutrition ["AZE", "0 X|(kal)", "Et+St=(g)", "THEE

<class 'pandas.core. frame, DataFrame' >
IntB4lndex: 793 entries, 7063 to |52
Data columns (total 100 coluans):

# Column Hon-Nul | Count  Dtype

0 N T93 non-nul | intBd

1 SEMPLE_ID 93 non=nul | obj ect

2 &L=3E 793 non=nul | object
3 ez 793 non=nul | object

4 LEHE 793 non-nul | cbiect
5 AlEH 793 non-nul | object
B S= T95 non-nul | int54

T RS J HEAM 793 non-nul | o] et
8 EFHAIZ 793 non-nul | object
9 AEHER TH non-nul | obyj ect
10 A=SLHHER 743 non-nul | chject
11 12 HSE 793 non-nul |l int6d
12 LH=EF S5 793 non-nul | oby] ect
13 EU=EHqg) 793 non=nul | cbiect
14 ELIZSZHal) 793 non=-nul | ahject
15 I Al Cread) 793 non-nul | chject
16 =2ig) 793 nen-nul | obyject

17 CHHE(q) 793 non-nul | object
18 Al2Ha) 793 non-nul | abyject

19 Eb=EE(a) 43 nen-nul | ohject
a0 &<S(g) 743 non-nul | object
& H=(a 793 non-null  object

qQF  IHH 21 wg) 793 nen-nul | obj ect
9 MEEeM 793 non-null  object
00 O3 793 non-nul | obyj ect

dtypes: int64(3), object(97)
nEROrY usage: 625 T+ KB

<t lass "pangdas

IntB41ndex ) 793

ore. frame.DataFrame’ >
entries, TOB3 to 1562

Data columns ttotal 8 columns):

# Column Hon-Null Count Dtvpe

0D AEO 793 non—-null object

1 MIYZE (k) 793 non-nul | floatB4
2 EreZ=(a) 793 non-nul | floatBd
3 T E{g) 793 non-null floatBd
4 El'Z(g) 793 non-nul | floatE4

5 £9F(g) 793 non-null floatBd
E LIE&(g) 733 non—null floatBd
7 ScAHHY 0 non-nul | object
dtypes: floatB4(6), object(2)
memory usage: 55,8+ KB

o] =X

A =4
- AEW, 13 M3, 9%L 5

fr— | =

doot dd =

(9)", "%

—

B3z 3%
It'ol-(g)u' "%Eol--rar(g)", IILI_EE(g)M ]]

Zclass “pandae.caore. frame.DataFrame >
IntB4Index: 218lentries, 7073 to 275
Data columns (total 8 columns):

# Column  Mon=Null Count Dtype

0 &MEHE 218 non-nul | object

I WYX (k) 218 non-null floatE4d

2 ES£E2(9) 218 non-null floatB4

3 S®™MZE(s) 218 non—null floatB4

4  E|2f(a) 218 non-nul | floatBd

5 £%F(g3) 218 non-null floatBd

E LIE&Z(a) 218 non-null floatBd

7T 222" 0 non-nul | object
dtypes: float64(6), object(2)

memory usage: 15,3+ KB
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» © 1 DB.SCAN
o [
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 |17/ 18 19 20
Epsilon 100 110 120 130 150 200 75 100 125 75 100 110 125 150 200
5 5 5 5 5 7 7 7 10 10 10 10 10 10
7 7 8 8 9

minPts 5

10 10 10 9 9 9 5
47 36 101 72 165 51 43 12
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Outliers
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Q
o @ 1 DBSCAN( epsilon=110, min_samples=10)

D E-i Cluster 1 bt LT Ty - TG, B4 14 47 4,08 o, 0, B
100202, CEDHMEEY, EUEIW, MAANLC, HEZVY, WLEEYS, ALV, FHEEYS, BHAOESHD DBSCAN X = E'--'"
AW, CENIYC, BEYC, APV, CSMUWR, RF¥EA2Q, CRPNEY, IS0, HYSFEY, WY, NTEEW -, pet [« —]

BeERW, TAIW, CHRNSAW', HINXEW', HIANIW", FURESYC, CASXEEY, CHEE, ¥LNEN, XE
UL OCRENENC, CEENWRC, CERSIN, CRDAGEWC. CYHRAN, CHAEWT, CQURENY, dader, awr]

RN EEEEEEEEEE NN NN NN R

Cluster 2 - SWDSTHA [115.04 16,69 5.83 277 1.5 0.55%073] E Silon — 1 10 minPtS — 10
1 [EUNDARON, ¥ AANN, HERE2Y, RHANN-, BELUEUENN, MY, YZTHUNC, EHAHNN, "EXND p e I _

BERAC, RYHNAC, 2w, WRINNA, ¥R, TERENAC, TSERAMNAC, HINBE", HINEIPA, 'HD

JMEME, HEAE, HEMEAME", SREXUHINA, FRUDNDATIA, SFEUIOAC, SFLeITNAC, CHE
A, SAZNAA, AALNALHNEA, ‘'sHAOA, 'O+ W2, F&E8% ", VARTNA ", "YORINA-, HAog L6 %
& CBFHUHMMA, CRHTE, PN 4" xI EllOo] AlS O ALAd AFX
_ 2+ ZX| Lj| OO|ElO] AtS S AN O|AFK

Cluster 3 : A0S [9.4737e«02 1, 4300+ 2 4200e+0 2 1450e+01 1, 1000e-01 3, $520e-(n] _ 657" OI Outliers
1 ERAENE, R0, CHINAEMAEF0C, @00, MR, CNAONR0C, CAMNDHNLEE - CIEZAIR0C, EHN
21200, "EXNR0, BHID&TIO0C, CRAFDI, HHLAHNI, CHEDR, CHELI0C, CHEIR0C, @HI0C, THER
0, "S82@052, "ARNEDIN]

NN EEEEEEEEEE NSNS EE NN R

Cluster 4 - B9 96845 65,06 223 123 128 1.44606] GUT: I i?rs lmgguw s Qiﬂ w .;II!“ ilmal;g .’: ”I?HII-[HEI E'Q :' ::Q[H
e WA wEes. WHAUAe. eea aE. wa g, En"_.'l%! . —.—EHJNJI'H , LHZ &, ﬁﬁi@l, _EII-'-‘-I;II , =N
e ocggamey T T T T . ' ' T ST My 200, "DEHSL0 T, AI;YILO0 0, €000, "SHAZ2H|
e — =00, "‘T2d2iopm -, ‘222201, ‘220", ‘&@4d2=x0",
Cluster 5 : SHIN=RE (276,71 8,68 3,46 12,86 4. 77 0, 4375] .é}agﬂéé;ul.’ ri]L'EHE.J IEE#.J lEE.‘ 1ﬂ.ila¢.‘ .-?_E
errasrreimariasiesisermariastsiiss s sasies . o I . (24), 0IEE S0 £20HHEl ", N2, W2z, "UARE",
wx ansicdss amdvunes wwswawad o S R RANARS | H¥E AAT, B edA

= 55 = T — ] [=] = [ = A ¥

T EH T AR O © o Co R CSAMSPAC I
L L U N AESl WEDAD . @A MEENAT GUA(RE) B
TS IR, v, W anw Samav 4R easenaze) o, SedE SRBUSN), @B WEEIUSE-, 20

E:, 'E2, OB, ‘=M, 2RVFE, LDINMEE,
Cluster 7 : HMB~ [583, @ ow B 4.15 0,77827] ZHHE, QR =5, HRANZHE, DEHZE -, HEIZF ",
VCHRANZ . DEONY -, DDUUM . DDULHOANY |, EAUSHY HUA, UMAN, CWHENA, Bl '2REEC, 28, HDSEFEE, 'HEE, ‘DlA=EE’, 'Y
kA D2l =8, "adzd, "EHZE", 'NE=EEE", '=3"]
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B - II-O:I d OFE A O:IIAI
0 371.53 156.8 8667 197 13.39 404 — o o -
WL X ked) SHEbE(g) THEE{g) Mgy 2R UHEE@g)
0 401.93 76.84 1447 408 0.00 088409
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— i >0 F (o] B —
© 1 (Z2HAE FYZ - 70| LA ) sum (axis=1)
e UXId) SH43HE(g) THIT() Nig) SR UES(Q) =3
0 30.40 79.96 7220 1562 1339  3.15591 21472591 X Zd2d X
e dd F7t
1 256.49 140.11 80.84 1693 11.81  3.44927 [509.62927
2 24.16 142.42 6247 175 1328  3.64472 247.72472 N; 4 Ok A Ql Ekels
- oo —-1L-— od
3 92.93 90.74 6437  7.36 0.87 259394 25886394 N 1
4 95.22 148 11 5521 684 862 354750 §317.54750 - orm

Bz n3 0@ °
7



coO * Acorn_Final.ipynb
o = 27| 4 EY =7 =3

a2 238 ¢ (@

+ 3c 4HAE

—_N—

Q
) OILIRI () Smi=(g) SHHE(g) R(e) Z9R(9) USE(9) =5 Cluster D57l
- menu C ou nt #0.30 135.67 63.63 532 6.07 227327 24326327 djr2s 1
— 9 %0.12 137.38 59.44 361 239  3.56763 246.50763 EZ=E 1
10 41.13 143.79 3787 1046 11.46 293404 247.64494 Hae 1
n e 11 2416 142.42 62.47 175 1328 364472 247.72472 3 20
12 92.93 90.74 64.37 7.36 0.87 259394 258.86394 4 13
1 42.76 145.80 50.37 419 1299  3.13466 259.24466 27| AHEE 1
14 78.56 11.76 62.99 0% 2.73514 2p1.71 ST 1
menu.count..+ =. n*Closest.Cluster -
? 52.44 146.72 51.77 7.42 13.07 274521 274.16521 e 1
n + — 51.52 155.00 49.57 1.43 13.39  3.36603 274.27693 S 1

92.40 134.23 5202 682 441 3225208 294.00520 SMENA T+ 4t Closest : +1
menu 14@0 Uﬁt a@ —5.04 u% 3.50203] 295.77203 R ESEE 1
~T137.93 67.00 72.57 9.23 11.81  2.05842) 300.68842 =oi= 1 |+ Z”d Closest : +1

21 127.39 15¢ 9 1.38 4.89 13.06  3.94819 301.35819 27|+5 1
2 H— a6 59.62 335 12.64 3.33499' 302.62499 EEE 1

z3 95.22 148.11 55.21 6.84 8.62 3.54750' 317.54750 5 14 Je— 5th Closest : +14
24 115.52 135.95 6492  10.19 11.15  3.22310 340.95310 2| ZHE 1
25 116.45 144.98 5630 1577 12.45 278807 348.73807 Hess 1
26 216.48 42.23 62.66 1596 12.82  2.80595 352.95595 == 1
27 138.74 130.77 7338 1131 0.52  3.05546 357.77546 N2E+S 1

_C?_
28 132.32 129.76 70.84 1217 13.39  2.64776 361.12776 22| =2 1
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- https.,;/www.si.re.kr/node/65499

YEOIFILES < R2[2tm G4
- https.;/www.foodsafetykorea.go.kr/portal/sensuousmenu/schoolMealsDetail.do?menu_gro=MENU_NEWO3&menu_no

2rofel Al
- https.,;/www. 10000recipe.com/index.htm/
YBOSFBOIFIA <« MEYLE [OJEH|0/ 2>
- https.//various.foodsafetykorea.go.kr/nutrient/
HAZXF <2020 2t=2l FS4 HF7/F 29 H>
- https.,;/www.mohw.go.kr/react/jb/sjp030307vw.jsp?PAR_MENU_ID=03&MENU_ID=032901&CONT_SEQ=370072

A=z ZEILIO/E & AEA AT /&8~ 51
- https.//data.seoul.go.kr/datalist/OA-2741/S/1/datasetView.do)

-
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- https.//nutrigeni.co.kr/
=9y «Eoxs
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- https.//pilly.kr/

Velog <01. ZfAS] FHAIAE - AEEYE F8, Apriori & 11E[&, FP-Growth>
- https.//velog.io/@ttogle918/Recommendation-07

Data Mining & Quality Analytics Lab <Sequential Pattern Mining Algorithms>
- http.//7dmagm.korea.ac.kr/activity/seminar/237
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